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12.

Instructions for the Candidates

Write your Seat No. and OMR Sheet No. in the space provided

on the top of this page.

This paper consists of 50 objective type questions. Each question

will carry two marks. All questions of Paper-II will be compulsory,

covering entire syllabus (including all electives, without options).

At the commencement of examination, the question booklet

will be given to the student. In the first 5 minutes, you are

requested to open the booklet and compulsorily examine it as
follows :

@) To have access to the Question Booklet, tear off the
paper seal on the edge of this cover page. Do not accept
a booklet without sticker-seal or open booklet.

(1) Tally the number of pages and number of questions
in the booklet with the information printed on the
cover page. Faulty booklets due to missing pages/
questions or questions repeated or not in serial
order or any other discrepancy should not be
accepted and correct booklet should be obtained
from the invigilator within the period of 5 minutes.
Afterwards, neither the Question Booklet will be
replaced nor any extra time will be given. The same
may please be noted.

(Tii) After this verification is over, the OMR Sheet Number
should be entered on this Test Booklet.

Each question has four alternative responses marked (A), (B),

(C) and (D). You have to darken the circle as indicated below on

the correct response against each item.

Example : where (C) is the correct response.

ONON NO

Your responses to the items are to be indicated in the OMR
Sheet given inside the Booklet only. If you mark at any place
other than in the circle in the OMR Sheet, it will not be evaluated.
Read instructions given inside carefully.

Rough Work is to be done at the end of this booklet.

If you write your Name, Seat Number, Phone Number or put
any mark on any part of the OMR Sheet, except for the space
allotted for the relevant entries, which may disclose your
identity, or use abusive language or employ any other unfair
means, you will render yourself liable to disqualification.
You have to return original OMR Sheet to the invigilator at the
end of the examination compulsorily and must not carry it with
you outside the Examination Hall. You are, however, allowed
to carry the Test Booklet and duplicate copy of OMR Sheet on
conclusion of examination.

Use only Blue/Black Ball point pen.

Use of any calculator or log table, etc., is prohibited.
There is no negative marking for incorrect answers.
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Physical Education
Paper 1I

e forar
gyuIeht 11

Time Allowed : 75 Minutes] [Maximum Marks : 100

Note : This paper contains Fifty (50) multiple choice questions. Each question
carrying Two (2) marks. Attempt All questions.

AT : A1 TRAAehd TR TR (50) SEUEREN TR fooidl oTRd. e TRl g (2)

0 . W Y drel.

1. Which of the components of | 1. TEIECIA HIVEl THh AN

philosophy is concerned with HaLd e ?
nature of knowledge ?
8 (A) HeIgoTet

(A) Axiology

(B) TheME
(B) Logic

(C) AHgOTet
(C) Epistemology

(D) AHICHAG

(D) Metaphysics
2. Augdt=t ‘w-ufawm’, ereHfaverd,

2.  The most suitable style of teaching . .
HAHRIEY ST Sieedeh STeqa= A

useful in developing learner’s self-

image, confidence, communication fehTa BUaradt Wesld Fa ST
skills and cognitive learning is : el & s

(A) Command style (A) o7 et

(B) Reciprocal style (B) == Sredt

(C) Inclusion style (C) wagHEEE: el

(D) Self-learning style (D) -39 et

3 [P.T.O.



Venue of 2020 Olympics is :
(A) Rio-De Janeiro

(B) Beijing

(C) Tokyo

(D) Istanbul

Which of the following is a problem
most characteristic of the primitive
stage of forward rolling ?

(A) Keeping the chin tucked
(B) Keeping knees and hips flexed
(C) Losing the curl

(D) Using hands to cushion head
contact

Glycogen loading is a technique
of :

(A) Endurance training

(B) Dietary manipulation

(C) Depletion of fat

(D) Depletion of carbohydrate

Which need is on the top of the
Maslow’s hierarchy need ?

(A) Esteem

(B) Belongingness
(C) Safety

(D) Self-actualization
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(A) &l 3 Ssd

(B) fafsm

(C) Tt

(D) S

‘PRIl ISt ST YRR 3Taedd

Geierieh! IV THET e fogq

Id ?

(A) BT Teren feeRefa

(B) Te¥ 9 fida gHSdea srExdd
EEl|

(C) U=t oehdl TehgH IS0l

(D) Sish SHITUATHTS TIATET STER

el

TS TS § I A 3R 2

(A) THSRTUN gfrer
(B) 3R ST

(C) =& wHt gror
(D) heiigeh sHHI B0l

Heir=1 T agaR qeietish! v TRl
qaid oA WRAA 3 9d ?

(A) 9=
(B) Tqeteh
(C) g
(D) T=-SIvite




School of Psychology most closely
related to learning theory is :

(A) Gestalt School

(B) Cognitive School

(C) Behaviourist School

(D) Psychoanalytical School
The formula for acceleration is :

—

(A) v?

—

(B) ﬁ

D) %
t

During catching one should draw
the ball in the direction of motion
for some more distance after
receiving. This is technically known

as :

(A) Receiving
(B) Catching
(C) Giving

(D) Holding
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10.

11.

12.

When treating heat exhaustion
allow the athlete to :

(A) Rest in a cool place
(B) Drink cold water
(C) Drink salt water
(D) Drink ice water

Cardiac hypertrophy in a sprinter

occurs due to :
(A)
(B)

Increase in size of heart

Increase in thickness of left

ventricular wall

(C) Increase in thickness of right

ventricular
(D)
All

physiological consequences of cool-

Increase in thickness of septum

of the following are direct

down activities following vigorous

physical activity, except :

(A) Promoting the reduction of

cholesterol in the blood

(B) Preventing blood from pooling

in the legs

(C) Increasing the rate of lactic acid

removal

(D) Reducing the risk of cardiac

irregularities

10.

11.

12.
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13.

14.

15.

Which of the following equipments
is an effective motivational tool,

because it helps track steps taken ?
(A)
(B)
(C)
(D)

Heart rate monitor
Elliptical machine
Pedometer

Bioelectrical impedance

analyzer

The degree to which different testers
obtain the same scores on the same
participants is called :

(A) Inter-tester reliability
(B) Stability

(C) Validity

(D) Administrability

Ms. Joshi is writing her daily
observations of a student and writes,
without interpretation, that the
student is not completing the class
work and is constantly speaking out
of the turn. Which of the following
objectives does she appear to be

using ?

(A) Prediction

(B) Description
(C) Explanation
(D) Reasoning

13.

14.

15.
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16.

17.

18.

19.

Strength Endurance is not measured
by :

(A) Pushups

(B) Situps

(C) 1 RM. Test

(D) Flexed arm hang

Item analysis is not concerned
with :

(A) Item difficulty

(B) Discrimination power
(C) Response quality

(D) Response construction

The most common graphical
presentation of quantitative data is
in the form of a :

(A) Histogram
(B) Scattergram
(C) Linegraph
(D) Pie diagram

A Physical or mental change that
occurs is participants over time
affecting their performance on the
dependent variable is called :

(A) Adaptation
(B) Maturation
(C) Boredom

(D) Information

16.

17.

18.

19.
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20. A group of researchers conducts a

21.

22.

study where children from particular
classrooms are assigned to treatment
or control conditions. After the
study, the researcher finds that the
students in the control group are
high achievers than those in the
experimental group. They found no
treatment effect. The failure to find

an effect may be due to :
(A) Treatment

(B) Testing

(C) Selection

(D) Maturation

Who is the winner of 2013 US Open
Tennis Championships ?

(A) Andy Murray
(B) Roger Federer
(C) Raffael Nadal
(D) Evan Djokowich

As a productive functional process

sport management does not

include :

(A) Organizing
(B) Coaching
(C) Controlling
(D) Directing
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(B) dftemm
(C) e
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(A) 3fugt M
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Nes
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(A) 3TESH
(B) Hrieei
(C) frem
(D) frcem
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23.

24.

25.

26.

Rationalisation theory of manage-
ment advocates :

(A) ‘Right person for right job’
(B) Division of authority

(C) Division of responsibility

(D) ‘Freedom of thought and action’
Agility is measured by :

(A) Beep test

(B) T-test

(C) Volley test

(D) 30 m sprint test

How many time-outs are allowed in
a soccer match ?

(A) Two

(B) Three

(C) One

(D) None of the above

A wrestler lifts a newborn bull onto
his shoulders each day until the bull
is fully grown.

Which two principles of strength and
endurance training are followed by
him ?

(A) Frequency and overload

(B) Progression and overload

(C) Intensity and rest

(D) Progression and individuality

23.

24.

25.

26.
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27.

28.

29.

Which of the following is the main

concern of a sports marketer ?
(A) Enhancing sports skills
(B) Organizing sports events
(C) Examining athletes

(D) Publicizing sports

Which of the following is not
a critical aspect in muscular

development ?

(A) Genetic potential
(B) Injury

(C) Rest and relaxation
(D) Proper nutrition

Which of the following is an
appropriate sequence of a typical
Phy. Edu. class ?

(A) Demonstration—Practice—

Game—Closure

(B) Warm-up—Demonstration—

Game—Practice

(C) Warm-up—Demonstration—

Practice—Game

(D) Warm-up—Game—Practice—

Demonstration

27.

28.

29.
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30.

31.

While

objectives in a lesson plan teacher

writing instructional

mentions :
(A) Condition and criteria
(B)

(©)

Behaviour and condition

Behaviour, condition and

criteria

(D) Behaviour, expectations and

rules

Which of the following sets of tasks
would be best for a P.E. teacher to
complete and adhere to in the
beginning of school year in an
effort to establish good classroom

management ?

(A) Learn students’ names, teach

warm-up, play fun gave

(B) Have open period, post rules
on wall, create list of record

keeping system

(C) Establish rules and review
with students, create a record
keeping system, and teach

predetermined signals

(D) Post rules on wall, learn
students name, plan units and

year

30.

31.
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32. The three important factors for 39, Tifaw FEHETIET ST ST 9
prediction of the team performance
are - Hetdld ®Hceh Hled
(A) Crowd Size, crowd denSlty and (A) ‘Hiﬁ"q' 3R, Hjish;n oA, H‘j\a"qﬂ'
crowd intimacy
TehdTdl
(B) Crowd hostility, crowd affilia-
tion and crowd intimacy (B) WEIeReTE! SRHTET, T Hel,
(C) Crowd mentality, crowd density e WA
and crowd volume
. ) C) 9Yg= HHfdehdl, 9HEME! o9,
(D) Crowd emotionality, crowd €) e kS
reactivity and crowd sentimen- H‘;L'alt\l CICAICIG!
tality
. (D) SHEIEETE! ATefTehdl, HHEE
33. According to Albert Bandura the
four stages of observational learning gfere, TRl Hoeeiad
are : o
33. 3Tcee AR ‘fRIsuTeTs e r=a
(A) Attention, Retention, Motor
production and Motivation TR A AT SR
(B) Attention, Retention, Assimila- (A) STEuM, RN, HReF Fffd & oo
tion and Production
(C) Understanding, Attention, (B) S99, , JET F
Retention and Inspiration .
' prratt (C) TESI, 3[GUM, ¥ROT o 37d:Thdl
(D) Observation, Attention, Reten-
tion and Motivation (D) fAfRem, staem, swom & Hwom
13 [P.T.O.



34.

35.

Effect of applied force depends on

its :

(A) Magnitude, direction and point

of application

(B) Direction, point of application

and spin

(C) Point of application, spin and

magnitude
(D) Spin, magnitude and direction

Arrange the following phases of
putting the shot in Parry O’ Brien
technique in correct sequence from

the codes given below :
(@) Release stance
(i) Release action
(zi1) Glide

(iv) Initial stance
Codes :

A) @), @), (i), (Gv)
(B) (@), (i), (iv), (2)
(C) @), Gv), (@), @)
D) @), @), @), (@)

34.

35.
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(C) (i), Go), (@), (i)
D) @), GiD), (@), (i)
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36. Objectives of a school health

examination are stated in order of
importance. Choose the correct

option for the order :
(z) It should be an educational
experience

(t1) There should be a positive
appraisal of health status

(i11) Defects are detected

(iv) Communicable diseases are
detected

Codes :

(A) Gv), @), (1), @)
B) @), (i), Gv), @)
(C) Gv), @), (@), (1)

DEC - 71213/11
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=AM fool eTRd. Jafamdest g
Ta=rehy Haer

() T TH AR IV @

(i) TG SR FhRIHE HodTh

=
(iii) S st S
(iv) FES W @ Sad
HE :
(A) (o), i), Gi), ()
(B) (1), (i), (i), (i)
(©) Gv), i), (), (@)
D) @), (@), (i), (iv)

D) @), Gi), (D), (v) 37. 'UiE A’ fohdd Ereliel shETEr TR
37. Cellular respiration includes the EECEE
following steps in order : (A) o0 =%, TEEEEEEE, o
(A) Krebs cycle, glycolysis, electron &
transport R - . -
(B) TOTIhIAIETEH, Soiodd 8, shod
(B) Glycolysis, electron transport, S
Krebs cycle
2T s
(C) Electron transport, Krebs cycle, (C) FWHRTT o8, H°W  T®,
- TAh Y
glycolysis
(D) Glycolysis, Krebs cycle, electron (D) TR, el wh, FerR
transport B
15 [P.T.O.



38.

39.

In perceptual motor learning the
three significant components are :
(i) Reinforcement

(i1) Feedback (knowledge of result)
(zii) Teaching method

(fv) Constant practice

Use the code combination given

below :

(A) (i0), (@ii) and (@)

(B) (i), (@) and (iv)

(C) (i), (iii) and (iv)
D) @), (i) and (v)

The ATP production and amount of
ATP produced by ATP-PC system

leads to :

(A) Fast rate, high yield
(B) Slow rate, low yield

(C) Fast rate, low yield

(D) Slow rate, high yield

38.

39.
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(iv) U GraA

@reid A4 ‘v’ e
(A) (i), (iii) 3T ()

B) (@), (i) A (iv)

(C) (i), (iii) 3T (iv)

D) ), (i) S (iv)

ATP-PC TR fmio 2om=an ATP =
yarop g fAfddt o e ®e
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40.

41.

Which of the following statements

is true ?

(A) The larger the sample size, the

greater the sampling error.

(B) The more categories you want
to make in your data analysis,

the larger the sample needed.

(C) The fewer categories you want
to make in your data analysis,

the larger the sample needed.

(D) As sample size decreases, so
does the size of the confidence

interval.
External load factors include :

(A) Type of exercise, quality of

execution and load intensity

(B) Quality of execution, load

intensity and heart rate

(C) Load intensity, heart rate and

type of exercise

(D) Heart rate, type of exercise and

quality of execution

40.

41.

DEC - 71213/11

Weliciieht hIvd faa@ a3 ?

(A) =TI T Sioel Aol dde ey
frere ugdi=t 1 o

(B) o= Hifed! foweroona Sa e
TR LOMES! IS AN el
YO TS IR,

(C) o= wifedt fagersong & e
RO HIS JHIONG  =Ney
O e IR

(D) N9 SH eyt & HHl Bd a9
fogamg 3T wH B4

FIRTRIU=A STed R SeehTd I THTOYT
Bl

(A) SAEMEET YhR, SAHATSTE0= gSi

aIfor R e

(B) TSSO g1, YR dterdn 1for
A Tl

(C) ¥R e, g<a Tt SAIfor SHArArEr=n

Th T

(D) %S9 Tdl, SAMEMETET YR STfuy
STHATSIE=T <<t
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In Q. Nos. 42 to 48, Match List I and
List II and choose the correct
option from the codes given

42.

43.

below :
List I
(@ Insulin @
(b) Excess fat (@)
(¢) Cholesterol (223)
(d) Hypertension ({v)
Codes :
@ b)) (©
A @ o @
B) @ @ G
©) @) @ O
D) @) Gv) @)
List I
(@ Elisatest @
(b) Cooper12-m (i)
run test
(¢) Standing Board (i)
Jump
(d) Reaction time (iv)
test
Codes
@ b)) (©
@A O @ @@
B) @ @) )
©) @) G @
M @ @ @

List II
Obesity

Heart disease
Diabetes
Stroke

(d)
@)
(i1)
@)
@
List II
Neural
response

HIV infection

Cardiovascular
endurance
Explosive

strength

(d)
(iv)
)
(11)
(111)

DEC - 71213/11

. . 42 d 48 9 A I I A6t 11 e
feaean dahardter 9 ugia fHasr
42. qret 1 I
@ Fgfea @) e
® Sfafed =&t () 7ed fawr
(©) I Gii) TYHT
d) JEWIE (o) T&EE
Hehdieh :
@ b ©© @
A @ o @ G
B @ O @ @
© @ @ @ G
() I 6772 T €7) A (79 I ()
43. qret 1 RIC
@ T HEE () SR
gfafswan
®» FR12TER @) =R I
Toa0l AT gt
(¢) M A IS (i) STEAFTER
YT THERI
(d) 9idishan g (v) FhIEH qleha
FAr
Hehdieh :
@ b @ @
A @ @ @) G
B) @) G G Q)
©) @) G @ @
M G @ @ G0
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44.

45.

List I

(@)

b)
(c)

(d)

Codes
(a)
(i1)
@)
@)
(i1)

List I

(A)
(B)
(®))
(D)
(@) Isometric
exercise
®)
exercise
(¢) Isotonic
exercise
@

Isokinetic

exercise

Codes :
(a)
(ii1)
(it)
@)
@)

(A)
(B)
(®);
(D)

B.F. Skinner

Albert Bandura

Sigmund Freud

Charles Darwin

(b)
@iv)
(i17)
(i17)

(€222)

Plyometric

(b)
@)
(i17)
(ii)
@iv)

@

(@)
(@it)

(iv)

(c)

(iii)

(i1)

(iv)
(iv)

@®

@)

(@)

()

(c)

(iv)
(2)

(€22)

(i7)

List IT

Operant Learning
theory

Instinct theory
Social learning
theory
Psychoanalytical

theory

(d)
@)
@iv)
(ii)
@)
List II

Pushing wall

Dumb-bell
exercise
Butterfly
stroke
Split squat

jump

(d)
(ii)
@iv)
@)
(i17)

44.

45.

DEC - 71213/11

qret 1 qrer 11
@ ®FH fER @ e e
EREL|
b) A I Gi) e Y
EREEI|
© foHe wEe ) WSS e
SRRl
(@) Y Eed (v AAEERers
U
i
@ b © @
A G Gu) @) @
(B) @ @) @ (v
(C) @ @) @) G
D) G G Gv) @)
qret 1 qrer 11
(@ oFEdfcw () Sfa g (fa
A TheTol)
b) EHCR (i) Soodd A
Y
© SEEENE i) S e
e
(d) FEHREAREE (v)  ToRie wHEe
e St
Hehdieh :
@ B © @
A @) @G @ @)
B G G @  Go)
C) @ @ @) @
(D) @ Gv @  Gw)
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46.

47.

List I
(@ McDonald
) Brady
(¢) Cornish
(d) Johnson
Codes :

(@  (®)

A @ G
B @ G
<© O @
M @ (v

List I
(@ Spondylus
® Sprain
(¢) Stress fracture
(d) Strain
Codes :

(@  (®)

A O @
B) G Gv)
€  Gv) G
D) @) @

@
(@)
7))

@)

(c)

(iv)

(i)

(i)

(i)

@
(@)

(223)

@)

(c)

(iv)
(773)

@)
(i1)

List II
Soccer
Tennis
Volleyball

Handball

(d)

(i1)

@)

@)

(i11)
List II
Microtrauma
Contractile
tissues
Ligaments and
joint capsules

Vertebrae

(d)
(i11)
@)
(i1)
@)

46.

47.

iGN
@ HhSHTS
® o<
(0
(@ S=A
Hehdich

(@ ()

A @O G
B @ G
<©C @ G
O @ (v

RIC
(@ A"
® B
(©) WH hFR
@ A
Hehdich

(@) ()

A @ @)
B) @ Gv
(O I €77) I (773
M @) @

DEC - 71213/11

@®
(@)
(i)

@)

(0)
(tv)
(1)

(i)

(i1)

@®

@)

(€229)

@)

(c)
(tv)

(i)

@)
(23]

Iqrer 11

~

Hrent
|
Fetiai

> )

'Sdlcd

(d)

(i)

(iv)

(iv)

(i11)

et 11

&y AT
SR aEH Sl
sifeeray 3 wen

HUThT

(d)
(i11)
@)
(23]
(iv)
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48.

49.

List I List II
(Method of (Amount of
Training) recovery)
(@) Extensive @  90-180s
interval
(®) Intensive @) 3-45m
interval
(¢) Continuous @) 45-90s
(d) Repetitive (v) No recovery
Codes :
@ B (© (@
A @ @O G @)
B O (@ @ G
© @ @ @) 6
D @ @G @ )

Given below are two statements, one
labelled as Assertion (A) and the
other labelled as Reason (R) :

Assertion (A) :

A body of heavier mass needs more
force for change of state of rest.

Reason (R) :

Inertia depends on mass.

In the context of the above two
statements, which one of the
following is correct ?

(A) Both (A) and (R) are right and
(A) is the correct explanation
of (R)

Both (A) and (R) are right and

(R) is the correct explanation
of (A)

(B)

(®))
(D)

(A) is right but (R) is wrong
(R) is right but (A) is wrong

48.

49.

DEC - 71213/11

RIC RIC|
(ufreror (feagricit
gt h)
(@ TRHE G) 90-180s
TEA
) FoH= (i) 3-45m
THEA
¢ oSTEEM Gii) 45-90s
(@) AT Gv) Tagd
Hehdleh :
(@ () (c) (d)
(A @) @) @) (@)
(B) (1) () G Gu)
©) @) G @) @
O @ @) @ (tv)
Trelt feeren S arrTieh! Teh faem o
9 TR T FRU IR
faam A) :

e gEIAMrAT gt form frerdt

ISATITTS 3T ek STl SATATIAh
3T .

T (R) :
TIHMER. SEc STaaied 3T

o N

qeiadl

oIl SR HeHiER @efl
HIU TIE A I ?

(A) (A) 9 (R) SIF&I aIUeR 3fred afor
A T ® = I TEHRT IR
(A) I (R) =N R TRd AT
R) & (A) ¥ I TR IS

(B)

(®);
(D)

(A) s 3R 997 (R) § b 316
(R) SRR 3% 97 (A) § I 3T
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Frequency of score

Fig. NPC—Scores on Variables of Interest

50. The figure above depicts a normal | 50. R feciedn 3Mhdra TehT faaom=n GE™H

probability curve of a given g 9% cvifaadn 3:n% mg?ﬁ'{:[
distribution with reference to the 'FIE?I%EI'JIEfTIHII S feeiea Hehdrd el
figure, match List I with List IT and A qaty e
select the correct option from the
codes given below : RIC | RICi
List I List IT @ +lcd-1cH¥d (@) 0d-lo
(@ Areabetween @ Oto-lo aa
+lcand-1c b) HHAAEAA JATA  G) 0

(®) Mean will be at @ 0 © +3cd-3cTHA  Gi) 68.26%

(¢) Areabetween (tit) 68.26% &5

+30 and —30

@ QT TFM FEA (v) 99.74%
(d) Qqwill be between (v) 99.74%

- -
.
-

Codes :

@ B © @ @ &) © @
A G G G G A G @ G 6
B) @) @O 6@ () B) @) @ @ G
©) G G @ GD) ©) G G @ GD)
M @ @ G GiD) D G G G Gid)
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ROUGH WORK
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